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1. Which of the following statements is/are incorrect with respect to the arrival of

Europeans in Kerala?
(1) The religious policy of the Portuguese in Kerala was liberal and enlightened
(i1) In 1741, the Dutch were defeated by Marthanda Varma in the battle of Colachel

(i11) The treaty of Sreerangapattanam was signed between Hyder Ali and the English
East India Company

(iv) Paliath Achan, who fought against the English was the chief minister of Kochi
Select the correct answer from the codes given below :

(A) Only (i) and (i1)

(B) Only (i), (i1) and (iv)

(C) Only (i) and (ii1)

(D) Only (1) and (iv)

2. Who is the author of the Cochin State Manual?
(A) C. Achuta Menon (B) K.P. Padmanabha Menon
(C) V.Nagam Aiya (D) T.K. Velu Pillai

3. Which of the following was not a demand of the Indian National Congress in the

beginning?
(A) Expansion of the Legislative Council
(B) Reduction of military expenditure
(C) Raising of the age limit for the candidates of Public Service Examination

(D) Complete independence to the Indians

4. Which of the following leaders were not associated with Nehru in fostering the

Non-Aligned Movement, one of the basic principles of India’s foreign policy?
(A) Sukarno (B) Chou En-Lai

(C) Gamal Abdul Nasser (D) Marshall Tito
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i) Gapemmeile  CurismiEfluiseafler  bs5s  Csmdtens  srymerOWIDTERNE  WOHOID
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Qamsdl evGLL Gepeue-er <pflwir wm?
A) C. o5 Goerer B) K.P.ugwpru Cuerer
(C) V. prsb gur (D) T.K. Cougy Qerener
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A) sl Cuemeailer aflfleurssd

B) @rramieu Ceeilambsmans @&amnsse
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D) @pdwis@Enée pyowurer &sbslTd
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Qusssams euerliLgld Yerambd saealisard wrm Crme|er Csmiry Qarerereildeame ?
A  sarGerr (B) Qaer erer-eomul

(C) swod LgI® Brad (D) wriraped gL GLm
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5.  Arrange the following revolutions in the order of their occurrence.

(1) French Revolution

(1) Great Revolution in England

(i11)) Chinese Revolution

(1v) Russian Revolution

Select the correct answer from the codes given below :
A) (@), (i), (id), (v) B)  (v), (1), (), (@)
(©) (), (1), (v), (ild) D) @), (), v), (1)

6. Recently, the criminal justice system of India was completely overhauled. Based on this,
which of the following statements are correct?

(i) The Indian Penal Code has been replaced by the Bharatiya Nyaya Sanhita.

(i1) The Criminal Procedure Code has been replaced by the Bharatiya Nagrik
Suraksha Sanhita.

(i11) The Indian Evidence Act has been replaced by the Bharatiya Sakshya Adhiniyam.
(iv) The new reform came into effect on July 1, 2024.
Select the correct answer from the codes given below :

(A) Only (i) and (i1)

(B) Only (1), (ii1) and (iv)

(C) Only (i) and (ii1)

(D) @), (1), (ii1) and (iv)

7. Name the group of plants that thrive in ice covered arctic and polar areas :
(A) Microtherms (B) Megatherms
(C) Hekistotherms (D) Mesotherms

8. The Type of drainage pattern usually found on maturely dissected dome structures
encircled with alternate weak and hard rocks :

(A) Centripetal pattern (B) Annular pattern
(C) Parallel pattern (D) Radial pattern

9. Advanced Space borne Thermal Emission and Reflection Radiometer (ASTER) is a high
resolution remote sensing instrument associated with which of the following satellite :

(A) Terra (B) Landsat
(C) SPOT (D) Sentinel
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1) @Bdwu s amard s b urgHw Hlumw serahgrelmed wrHoliLl (Hearerg)
(1) @Hoeilud Bl (pend s b urgHu Bréfs &rser Farabsmeumed WMHOLILILL g
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iv) yduw Erdmssd gD 1, 2024-0 YIS UbSS)
EC Qar@pssiiul (herar @Muipseile @mbg sflurar ufmas CarbOsH &S D :
(A) (@) womibd (i1) G B) @), (ii1) whyid (iv) wLED
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A)  ewsCrm@sitben (B) QusrQgibev
(C) GandlevGLmlsiben (D) QuCer@sibev

LQGIGTLONET HMILD Slq@TOTET LITEDSETTE) @GLPLUILIL L. L&SEGHUDTES FGarigssliir L @GelnmL
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(C) CGupeed GuL_Lebr D) Crgwed CurLen

Guur L efarGesaiuder wreyd GQeutiu 2Blpey wHmd  GArHuadiy  CrgCuimbSi i
(ASTER) ererug Gemeu@mbd erhgy CewupamssCareriear Csriyearw 2 wi GgeflejsHmerr
Qarer MG G smellwumgh :

(A Quirgm B) Ceetri am

(C)  evum (D) Qsemgeardd
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11.

12.

13.

14.

Which of the following statement are correct about the occurrences of Indian Monsoon?

®

(1)
(iii)

Himalayas and Tibetan plateaus act as physical barriers and as a source of high
level heat.

Differential heating and cooling of Asian land mass and the Indian Ocean.
A negative southern oscillation.

(A) Only (i) and (iii)

(B) Only (i) and (i1)

(C) Only (11) and (ii1)

(D) All of the above ((i), (i) and (iii))

Arrange the following rivers of Kerala according to its length from highest to lowest :

(@)
(i)
(iii)
(iv)

Chandragiri

Chaliyar

Pamba

Bharatapuzha

A) @), Gv), (), (1) B)  (v), (), (1), ()
©) (@), (), (1), (ili) D) Gv), (1), (@), (1)

Who secured three accolades in the 66t Grammy award for global music performance?

(A) Ganesh Rajagopalan (B) Sankar Mahadevan
(C) Uztad Zakir Hussain (D) Rakesh Chowrazya

Which is the wrong statement related to Planning Commission in India?

(A) The five-year planning commission was replaced by NITI Aayog in the
year 2014

(B) Green Revolution was implemented during the first five-year plan
(C) 1966-69 years were plan holidays for the Indian economy

(D) Mahalanobis model was followed in the second five-year plan

Operation flood is related to :

(A) Increase irrigation facilities
(B) Increase marine fish cultivation
(C) Increase inland fish cultivation

(D) Increase milk production
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@pdwis umeuwapuiler Hlaspesamarts ubdl Gereud mpnisaid erg Fflumearg) ?

i) @uuoee wHmb HAusHwu S ydsas Quadss smLsaTsa|b AHs CeuliLgder
epTHa|b teudLbhdlermer

(1) < HAw Hevuriy womb @bslwl GumrsLellear Geumpul L Geuliub whmib @edT&s
(1) erdroepwrear OsHE& Smeay
@) () wppd (i) o e
B () wopd (i) v o
© (i) wpgd (i) e Gid
D) CuGe 2 drar simarsgid (), (i) wopb (i)
Cagermeflen Aemeumid pelower eigen farddlhe epu s ewipss Wsd &p ey
auflenaliLi(hSSBISET :
1)  epHrHi
(1) smeSlwm
(1i1) wbumr
(iv) umyglypm
A) (), (iv), (@), (iid) B)  (v), (1), (), ()
©) av), @ @), (1) D) Gv), (1), (@), (1)

o agetrellu @ens Hlapsflsarar 66eug Srmol alme eperm eblpgisamars GUHDeT wmi?
Q) sCawmey preyCamumeven (B) smsit warCseue
(C)  2evsns ordli o Gaen D) rGsey Qaarymeiiwim

@ndwureler FiL s sllagen QT TLTET SeupTear N&Ems 68 ?
A) gpsrar®d SHLs swleager 2014 <pib parriqed NITI <,Cuirdsréd wrbpriul g
(B) usewl yrlé wpsd ghsrarhs S sHo CewuduBssriulL g
(C) 1966-69 yar@psedr @pSHwls QurpertsmrsHnE S LBl L alH pemser
(D)  wanreGarmienv wrdfl @rem_reug gbsTam® S L sl Wearupmriir L g

<UGrager LQer @seai e QFTLenLwg) :
A)  Bruurser eusdamer FHasfNsseb
B) s WBeir cueritienu fsflése b
(C) eodmpm @ Wer eueriienu s fssalbd
(D) ure 2 pusHeow sfsseb
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16.

17.

18.

19.

20.

1s the maximum limit of GST rate set by the GST Council of India.
(A)  40% B) 12%
) 18% D) 28%

was founded in July 1948 under the Industrial Finance Corporation Act
of 1948, with the primary goal of providing long and medium-term financing to big
industrial firms.

A) 1IDBI (B) ICICI
(C) IFCI (D) SIDBI

The maximum area of land used for cultivation in India is used for the cultivation of :
(A) Wheat (B) Rice
(C) Sugarcane (D) Cotton

Pancheshwar Multipurpose Project (PMP), sometimes seen in the news, is a bi-national
hydropower project between which two countries?

(A) India and Bhutan

(B) India and Bangladesh
(C) India and Afghanistan
(D) India and Nepal

What does Art.17 of the Constitution of India relate to?
(A) Abolition of Untouchability and prohibition of its practice in any forms
(B) Equality of opportunity in matters of public employment
(C) Protection in respect of conviction for offences

(D) Right to elementary education

Which of the following statement is /are correct about the preamble of the Constitution of
India?

(1) By 420 Constitutional Amendment Act four new words - Socialist, Secular,
Democratic and Integrity - were added

(i1) Preamble is based on the ‘Objectives Resolution’ moved by Jawaharlal Nehru in the
Constituent Assembly

(i11)) Supreme Court held that the Preamble can be amended by the parliament but
without destroying the ‘basic structure’ of the Constitution

(A) Only ) (B) Only (11) and (i11)
(C) Only 1) (D) All (1), i1) and (i11)) are correct



15.

16.

17.

18.

19.

20.

149/2024-T

eTergl @BHw gdl.erev.l. sejenslomd Blirewulssiul L gl ere.lq. aldlssd e
SHEULEF aurbL.

(A)  40% B) 12%
C) 18% D) 28%

1948 <10 yarrigen @ewravl Mwe Garmerev sriiiuCrager L gdler S
9@ 1948@d Hlmeutiulig. @g Quilu GAsmfdgenn Hlneiarbsersd Bem . wHmib
Bh&3T sre HFuyselamw cupni@Geaims (pserenn CrrésnTss OleTaTLg).

(A) IDBI B) ICICI

(C) IFCI (D) SIDBI

@pdwureller sm@LIgsHE LWaTURSSLIUOD HlosHar sHasules uriueae Yereumd 6hs
LWllirsERd@EL LwearuOSsUILES DG 2

A) Csrgieno B) ons

(C) sy D) umss

ueEpGaagaum LOCHTSE b (PMP) updl flo sowmseaid Qeudsaie urrsstiu@dng,
Qg s @ BrhHsERsE @ Gu 2 drer @) Casflw Bider L om@Lbd?

A) @pHwur wHmd Ly L mer

B) @pdur wpmib LBsaTTCH6:

(C) @pdur wHmib <y risTeevgmer

D) @pdwur whmib Crumerd

@pdHu srdueeaopider 9fey.17 erengs ubHlug ?
(A)  SeamrLmen @LAIL LHMID ASET B (PEDEW 6ThS eUlgeUSHID Sl Q&S
B) Qumrg Geuene aumiiliL) elegwmkiseaid F0gE 6D
(C) GHpEsEpssTar ST mar CFTL LT LiTgIsmiL]
(D) Qsr_sss soeilssmar 2 flanw

@pdu  rflueeblinyE  FlLgHer  (pearaueyuied  bemeu@md  smpmiseid  erg
sflwurengl/sflwureareney :

1)  42eg srflueenlils Hmsss slLsden eped Camdlwalevl, Qagarm, GLGuordlrgs
wHmib @erg Sy <l premE LS eunisagser GCarsasliul L e

(i) orfwued Hrewrw gouuld meuantmd CrHeuTd (PETMEUSSILIL L. ‘@& @EseT
Siromearnd SjgriuemLulererg)

(i) rfueemwinder ‘@gliuml slLablel  ANSSTDD, LM T(@HLOGTDSSTeD
Waajmraw SHmsES (Plgub ererm o FeBdemid smdlwg
4) (@) wLEw
(B) (@1) wpHmb (iii) v Hbd
(C) (1) v
(D) sj@arggb ((1), (i) wHmibd (1i1) sflwurereneu
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21.

22.

23.

24.

Which of the following statement is/are correct about the Election Commission of India?

@

(i)

(iii)

Election commissioners hold office for a term of six years or until they attain the
age of 62 years, whichever is earlier

Elections to the Panchayats and municipalities are conducted by the State Election
Commissions

The chief election Commissioner and the other election commissioners enjoy equal
powers and draw equal salary

(A) Only @) and (i1) (B) Only (i1) and (ii1)
(C) Only 1) (D) All (1), (i1) and (i11)) are correct

Pick the wrong statement regarding the Comptroller and Auditor General of India

(CAG) :

(A) The CAG can only be removed by the Prime Minister of India on the same
grounds and also in the same manner as a judge of the Supreme Court can be
removed

(B) The CAG hold office for a period of six years or upto the age of 65 years,
whichever is earlier

(C) The CAG audits and report on all expenditure from the Contingency Funds
and Public Accounts of the Union and of the States

(D) The CAG audits and report on the receipts and expenditure of Government
companies

The Central Government law/Scheme that was unanimously struck down by the
five-judge Constitution Bench of the Supreme Court on February 15, 2024 as the bench
found the Law/Scheme to be unconstitutional :

(A) The Fiscal Responsibility and Budget Management Act, 2003
(B) The Prevention of Money-Laundering Act, 2002

(C) The Electoral Bond scheme that was introduced in the Finance Bill, 2017
during Union Budget 2017-18

(D) The Agnipath Scheme brought in by the Central government in 2022

Which of the following statements is/are correct about the State Human Rights

Commissions?

(1) The commission cannot inquire into an act of Human Right violation after the
expiry of one year of occurrence of that act

(i1) Though appointed by the Governor, the chairperson and members of the
Commission can only be removed by the President of India

(i11) The Commission does not have the power to punish the violators of Human Rights

(A) Only (i) (B) Only (i) and (i)
(C) Only (i) and (iii) (D) All ((), (ii) and (iii)) are correct

-10-



21.

22.

23.

24.

149/2024-T

@Bdws Coisd yamamwusamst updlwu Wearamd Msmsasaid ergl/erenel Fflwmeag)?

1) Csisd YmE@TUTHET B0 WETHSET ADDF DHEUTHET 62 GULIMS ML U|D U]
usedlufley @, erg WPhagwGsT

(i) uEpFTWSGISET WHMID B&ITLHaEpssTar Csigasdm LBl CHTHEH 4,6 ewTIIBISETTED
BLS5U1L(H S e e

(i) seoeemws Csized oarw@md wHmbd 1G9 CaTed PMEUTHEHD — FOTET
SFlaTrhsmer Daueisg s eadwusamsl CumSpmirger
A) (@) wHmbd (1i) wLHIb
(B) (1) wpHmb (1ii) wiHbd
(C) (@11 v
(D) sj@arggb ((1), (i1) wHmibd (1i1)) sflwurereneu

sbULGrror e gLt GAgaméd  (CAG) Qgrifurer  seuprer flsamsamws
CaibOsH&Eseb :
A) @pdwrs Gyswyréd w GG CAG Sésiiu wigub Coaib Cs g liLenLuie
o sgpdlerm BHudeow Bss wpiguyb
B) <n gar@sdr Ddag 65 auwgl ey, CAG ugell audlsdlpgl, erg pHaswLGCsT
Sigl
C) welwer wHmibd wrilomselear gHCsue HHsdr wLHMD QuUTgs sars@Eseflan
@mhg Smarsg Dsoalamisameryb CAG samilsdans Celig Msms QFiidng
(D) CAG <ys flneuemsaier aigeser whmb Cswejsdar ubPlu gaufldans wHOHID
SH&nS

Quogeufl 15, 2024 ey o Fefdoeamsdear mbg BHudsdr Qarar  Sipdlueenolily
QUEpEF-Jed  @baTsTs  TH5g  CewwlulL wsHu  pHar  ehs  FULLID/FLID,
SrFlwueenwlibdh@ preavmeang ererm ClLErE semMbss) ?

A)  Hd Qummitiy wohmib LGy Guoerarenn L b, 2003

(B) wenfl Covewrfm ghHuiys gL ib, 2002

(C) 2017-18 welwer uwlgiger Gurg  6HlF  wCersm, 2017 @

SDWsiLGSSIULL erCesGLmyed umem Sl b

(D) 2022 & wsHwu rered Qararbheurliul L saflurs S b
wrfle wealls o flewsdr ymamwmsmear uddu  Geteumbd Msmasailes ergl/eTenal
sflurerg 2
1) weaflg 2 fMew Bped Cewed pLbg @rreaT® Wigbs 9nE& Yamarwid eflerflés wpiguwrg
(1) <eEpprred  HublssiulLraib, YoamrusHear smeel WHMID 2 miribarTsmar

@Qpdwus Guurss semoeur GG B&s wpigujbd
(i) wefllg 2 Aemwsmer ByLIcuTSMET SaTg&EEGL SHaTrD slawasE Qdame

4) @) wrEw

B) (@) wHmb (i) wLHb

(C) (1) w @b (iii) i Hb

D) <@arggd (1), (i) wombd (i) sfurerae
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29.

Which of the following statements is/are correct as per the Census of India 20117

®
(11)
(111)

Most densely populated district of Kerala is Ernakulam

Women outnumbered men in all districts of Kerala except Malappuram
Kannur district has the highest sex ratio in Kerala

(A)  Only (3) and (i1) (B) Only (i1) and (ii1)

(C) Only (1) and (ii1) (D) Only (iii)

Which of the following is/are true regarding the literacy rates in Kerala as per the 2011

census of India?

(1)
(11)
(111)

Thiruvananthapuram has the highest literacy rate in Kerala
Idukki has the lowest literacy rates

The literacy rate of Kerala is 86 percent
(A) only (11) and (ii1) (B) only (1) and (iii)
(C) only (1) (D) none ((i), (i1) and (iii)) are true

Which is/are true about Vayomithram project implemented in the State of Kerala?

@)
(11)
(iii)

It caters to the elderly people who are above 70 years of age residing in rural areas
The project started functioning in 2017

There are no economic criteria for availing services under the project

(A) only (i1) and (iii) (B) only (ii1)

(C) only (1) (D) none ((1), (11) and (ii1))

The scheme for Differently Abled people run by the Government of Kerala :

(A) Swasraya (B) Mandahasam
(C) Pariraksha (D) Samanwaya

The name of the Android App launched by the Government of Kerala aimed at

diagnosing and controlling lifestyle diseases among the people in the State of Kerala :

(A) Koode (B) Aardram
(C) Shaili (D) Arogyam
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2011 @pdu wssear Cgremss senssOlearlyg Weara@mb dsmasaflenr g/ eTana
sflurearenae ?

1) Cspermailer oifls wEEET FTEns GETE@TL OTEUL L LD 6TTERTT(E6TD

(1) weuyrb sealy Caretmellenr emarsgl wreul L kisafled opamsamer ol GlUeTSET
SSEOTE 2 eTerait

(i) GCarermeile saranr wreul LS Lradlar ldlsh daswrs 2 dmeng
A) (1) wHmbd (1i) wLHIb (B) (i) wpmid (iii) L HIb
(C) (@) wpHmbd (1il) L (HIb (D) (@ii) wrEw

2011 <yib ear(h @QBSHu wEsar Csrens samstshHuberty  Gsyermelild  sdeillwblay
flgriger QgrLruns Weneu(hauaraupmled ergi/ereneu sflwimerg ?

1)  doeuarpsyrb Casretreller oiHs erpssdley aldssmss Cara(bhearerg
(i) QeSS rpsshle] Hlsh Gmmeurs o drarg)
(1) Garermeiler soelwue] ldlsd 86 sHelldsbd
(A)  (@i1) whmd (1ii) wiHb B) (@) womid (i) wL EIb
(C) (@) wr@w D) sMléeme ((1), (1) wHmb (1il))

Cayar wrbleogde euCumbllsrd L sms Geudu@Osgieusdld egl/earanal sflwmeag)?
1)  Syrooypriiseie eudls@n 70 euwgis@ Cuhul L wHCuniseEnsd @8 256 dng
i) S 2017 Qe Qewdur s Qsrimdwug
(i) SHLsden ip Comeusamarts QuUmeugDH@ QUTBETTSTT SjaTeCaHTOS6T TEia|b @ldane
(A)  (@11) womid (1ii) wLHb (B) (ii1) w @b
©) @ wrEw D) sMléeme (1), (1) wHmbd (1il))

Cayer oygmed BLSSLILIHD WwrHms Soearmeils@pssrear S b :
(A)  eveumevwm (B) wpsanmsd
(©)  ufysegm (D) swereuwr

Capar  wrlwgdler oder  wasalan Cu  curpsens  wpap  Cpmisamars  samLHlbg)
sLpuupsgeias Crresworss Caramh GCsyer ojpsmed QTLmsULLIL e Fmh
Cawedludler QUi :

A &G B) <rsrbd

(©) aged D) <=CrmsHwid
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31.

32.

33.

Who headed the Supreme Court bench in the Vishaka and Ors. V State of Rajasthan
(1997) that delivered the landmark judgement dealing with sexual harassment at the

workplace and provided guidelines to deal with?

(A) Mr. Justice R.M. Lodha
(B) Mr. Justice J.S. Verma
(C) Mr. Justice Dipak Misra

(D) Mr. Justice Ranjan Gogoi

Which part of the Constitution of India empowers Parliament for the establishment of

administrative tribunals for adjudication of disputes related to the service of persons

appointed to public services of centre and states?

(A) Part XI-A
(B) Part XIII-A
(C) PartXIV-A
(D) Part IX

Which of the following statement is/are wrong regarding the Right to Information Act,

2005?

(1) Information sought may be refused by Public Information Officers if disclosure of
such information could lead to incitement of an offence

(1) Public Information Officers are required to give information within 48 hours of the
receipt of request for information if the information sought concerns the life and
liberty of a person

(111) Citizens belonging to Below Poverty Line (BPL)are exempted from the payment of

basic application fee while seeking information under the Act
(A) only (ii) (B) only (i)
(C) only (i11) (D) none ((1), (11) and (i11)) are wrong

The percentage of area under forest in Kerala as per the land use data, 2022-23 of the

Department of Economics and Statistics :

(A) 14.06 percent (B) 36.90 percent
(C) 19.74 percent (D) 27.83 percent
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Nerar e yismarCGagsar V. rmmevgmer wrhlew (1997) vl gdléd Lredlwd
gearmssedr  Qariiurer  @asfu  Srieu  eprdug  LHDID  @SWTETUSDHETET
auflsr (Hsdsmer cuphrdudad 2 s& BHvem QUErHo samaamn cudlgseurr

A) A $Hud R.M. Caongr

B) Hwm. pHuS J.S. euiom
C) dm. pHud Eus Wavym
D) . $HuS yepeear CarCamil

oS wHmid wrilenseflar Curg CsameuseEnsE Hullssuul L purseflear Coameudser
Qgmiirurar  gidmaseamer  Siiiugh@ —Hieurs Srourumisaer  HlnejeusneE GBHw
<rFlueennliber erhg LGS urymepwarnsSnE idasrrb eaflssng 2

A) ued XI-A
B) uv@Ed XIII-A
(C) uv@Ed XIV-A
(D) uveEd IX

sseued dluyd o fleows &b, 2005 Qgriiurs Gereumbd M&smaseie) g/ eraney
SEUDTEG) ?

1) osswaw gacumsme OeuealliL@dgieug GOPSMSS FraTHeUsHE UPUGSSTED,
Campuul L gseu0s6m (UTES s56u6 HETMSETTOD MI&HSILL LD

(1) em pufler eumpsens wWLOHMID &SHSTD Csriiurear sseldse  CasmylillLme,
ssais@Epsstar  Camflgeans QupuuL. 48 wafl Crersdb@ar Curgs sseid
DI TEHET HeIM feT&Hs Couamr(Hid

(i) eumeros Cari(hé&@s Sp oder @ywsser (BPL) sligdler S sseudsamars
Cammpwlung DgliuamL alaremiius sl Lansmss Ceqsgeded @ mbgl Hlwss,
ief&sILHEpmiser
(A) (1) bW
B) @) wLEw
(C) (ii1) wi_(Hibd
D) seaum Gedeve ((1), (ii) wHmd (1ii))

Qumperngmyd  wHmid  Heraflulwed giewpuler 2022-23 flo vwetuT (S Srejsateiilg
Cayerrelled arpisafien S o drer LGS uler FHaisb

(A) 14.06 sz6isbd (B) 36.90 sz6isbd
(C) 19.74 sz6isbd (D) 27.83 sz6isbd
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34.

35.

36.

317.

38.

The Mahatma Gandhi National Rural Employment Guarantee Act, 2005 (MGNREGA)

mandates which of the following?

(1) The Gram Panchayat Secretary is the registration officer under Mahatma Gandhi
NREGS.

(i1) Providing not less than Two Hundred days of unskilled manual work as a

guaranteed employment in a financial year to every household in rural areas
(i11) Hundred percent implementation of the Scheme is at the Gram Panchayat level

(A)  Only (1) (B) Only (1)

(C) Only (1) and (i1) (D) Only (i1) and (ii1)

Pick the wrong statement about the Kochi Water Metro Project :

(A) Diesel boats used in the water metro project are manufactured by Cochin

Shipyard Limited
(B) Kochi, is India’s first city to have a Water Metro Project

(C) Kochi water metro project plans to connect 10 islands along a network of

routes that span 78 kms benefitting over 33000 islanders

(D) A major part of the project is financed under Indo-German Financial

Cooperation with a long-term loan agreement of 85 million

In which place was the International Labour Conclave organised by the Government of

Kerala, from May 24 to 26, 2023.
(A) Ernakulam (B) Kannur

(C) Palakkad (D) Thiruvananthapuram

What is the scientific name for the Adam’s apple found on the throat?
(A) Larynx (B) Trachea

(C) Epiglottis (D) Oesophagus

Which Vitamin is synthesized by bacteria in Human body?
(4) VitD B) VitC
(C) VitK (D) VitE
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warswr s1hd Caslw caps Ceuame 2 mdls s b, 20056 (MGNREGA) Gereumeuareumhled

TGS SLLTULTEEGSH DG ?

@)
(i)

yro ugpeTusg Qewuemert warswr sthdl NREGS @er Sip udey ifamfl <yeumt

Srmoiyphigefles odter  alCeun  GOLUSIHDGSL @  HHuramgd @
2 ggreurgorear ColameeumiliLiTg @@HEBIM BT &@Ehds@ GMDWng amsipann GCeumasamar
QULDTRIGHGED

(i) @sdLsder 100 sseish QewdLBSs® Srmn LEpeTUSEH Sareilld 2 dTerg)

A) (i) v @ B)  (ii) wr @b

©) () womd (i) wr G (D) (i) womd (i) wr @o

Qargdl eur L Qi Gyr b updlu seuprear Hamasaws CarbosH&se b :

A) et QuiCGrr HLsded nweTuESSLIUODL e LL Goer Qarsd adliwmm
OIBIELL epeid swmflgsiiupBElerner

(B) Qsr&dl, eur i Qi G S sanss Casmear @bHureler wpged BETLD

(C) Qargdl eur i Qi Crr b 33000 Sejeurndls@nsE uweareals@n auansuden
78 S Berpdrar  umegsaiar  QpLGCeurisder 10 Seysaer  Q)evantés
SO (HeTerg)

D) drrsder QupbLEd @bHu - Cmiwer B essampribear Sp 85 Wld6Slwier
Bar sre sLer @uiLBSSgILar BlFwelssiubhdng

Cuw 24 qpsge 26, 2023 ey Casper opemed gour® Ceuwliul L sreuGss Cgmemer
wrpT@ eThs QL sl penL_GLHmg)?

(A)  errarTm@aTLD B) sawamrt
(C) uness() D) SHmweauarbsrbd

QgreamenL_ufled srewriiLihHib Y gTdler <,ribaflen oMeilwud QUi ererer?

(A)  Gefleireiv B) Crédwr
(©)  er95Gamygev D) @CarGusev

weflg 2 L elléd ursleflumeurd gphidamarssiiupib ameul L Oler 6rg)?

(A)  eveur_L1fler D B) e Lfer C
(C) eeur Lfer K D) e Ler E

-17-



149/2024-T

39.

40.

41.

42.

43.

44.

The Vector organism for Leishmaniasis is :
(A) Mosquito (B) Rat
(C) Pig (D) Sand fly

The Kerala government health department launched the ‘Aardram Mission’ with the
objective of :

(A) Expanding medical tourism in the state
(B) Making government hospitals more patient friendly
(C) Encouraging private healthcare investment

(D) Promoting traditional medicine practices

Which of the following is not a characteristic of Type I-Diabetes?
(A) Abnormal Carbohydrate Metabolism
(B) It is Insulin Dependent
(C) Itis an Autoimmune disorder

(D) The patient will be reliant on exogenous Insulin

The concept of ‘planetary boundaries’ refers to :
(A) The limits of human population growth
(B) The critical thresholds for environmental sustainability
(C) The potential for colonizing other planets

(D) The economic costs of environmental protection

Artificial Intelligence (Al) is rapidly evolving and impacting various fields. What is an

example of a potential application of Al in healthcare?
(A) Providing emotional support through chatbots
(B) Assisting doctors in analysing medical images for faster diagnoses
(C) Replacing the need for human nurses in hospitals

(D) Automating administrative tasks in healthcare facilities

Space debris is a growing concern for satellites and spacecraft. What is the ISRO project
on space debris?

(A) Netra (B) Gaganyaan
(C) INSPIRES (D) Astrosat
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eSeigCaflwndlev-g Lyt 2 ulflernd :
(A) Qsrs B) e
(C)  we (D) Gsapri Liener

Cayer  <ypélen  sarsmrs  geop ‘hsyd  Bager erarn HLb by  Crrésdgien
QaTL_rBslr L g7

A) wrilosded wmsgie shmorame allfleyuHSgI50

(B)  <irs bmsgeubamarsmear CrrumesE, 2 s5hsSTe DTHMIHED

(C)  sallunt &arsy (PpsSL L 26réEeldse

(D) umpbuflu WESSHE (WPeDSEMET 2618 E6eM 5560

Qetreu(meuareupded ergy a1 I-EMifley Crmufesr Aprifwedyy e ?
A)  grsmyen sriCureant Gl eueriéleng WwTHMHLD
B) Qs @eraler Fnibss)

©C) @a @m < CLr @buyer Camermm
(D) Cmrwredl Qeueflliym @eraedlaner BLOEUINBLILITT

‘Elrs ervemasEe erem H(HEF GONUABHeug :
A) wais wssardgrans euerTéflullen curbLger
(B) shm&s e HlevessamannssTar (P SuInmear e &er
(C) wpp frsnseaid @LCuneshsarear srsdwbd
D) sdm&Gped urgasTiber QurmetTsTy QFwe, Her

Qewupens mamanrdle) (Al) Couswrs o (heurd LGy gimpsaile sTEss5mES THUOSSHSHDS.
QandsGafley Al @er sTSSlwinmear LTI g6 2 STTERTD eTeTe ?
(A)  emiCGuUrlger ppeid 2 @TTES LTI DpHTmel GULPHIEGHSED
(B) eewgeurer Cprudlsausstear wHSHeUL ULBG®maTL UGLUTHe| Ceueudled
LOHESITEEHES 256 |geD
(C) wmsgeuwmarsaie waflls Cealledlwrsaiisr Caameuamw WMTHMISH
(D) &gy cusdlsefler Hlireunsls uanflaamer sraflussms @S0

Mam@eall @Leuser, CeupmssCararaar WHMID NETEORISGEHSE —UETIHS (D
Wyssenar. ellamCeuaf @Lienuger LpdHlwu @evGrm S L b ererer ?

A) Cpsym B) ssetwmen

(C) INSPIRES (D) Astrosat
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45.

46.

47.

48.

49.

50.

What would be the weight of an object on the surface of moon, if it weighs 196 N on the

earth’s surface?
(A) 35N B) 98N
(©) 33N (D) 100N

A loaded cab of an elevator has mass of 2500 kg and moves 250 m up the shaft in 50 sec
at constant speed. At what average rate does the force from the cable do work on the

cab?
(A) 1250 W B) 100 W
(C) 1000 W (D) 125 kW

An ambulance with a siren of frequency 1000 Hz overtakes and passes a cyclist pedaling
a bike at 3 m/s. If the cyclist hears the siren with a frequency of 900 Hz after the

ambulance is passed, the velocity of the ambulance is :
(A) 41 m/s B) 45 m/s

(C) 35m/s (D) 50 m/s

Which space agency launched the INFUSE Rocket mission?
(A) Russian Space Agency
(B) Indian Space Research Organisation
(C) National Aeronautics and Space Administration

(D) European Space Agency

If X diffuses 10 times faster than Y, what will be the molecular weight ratio X : Y?
@A) 10 (B) 1/10

(C) 100 D) 1/100

Among the following equimolal aqueous solutions, the boiling point will be lowest for :
(A) BaCl, (B) NaCl

(C) Ca(NO,), (D) La(NO,),
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@@ Qurmeflar eren yblufler Gupuginded 196 N <oys @@mpbsmed Hloeiear Cuopuriiba

SISET DFE TGO TGS @) (H&ELD ?
(A) 35N (B) 98N
(C) 33N (D) 100N

@ Olobliiged erdmiL L euary 2500 HCar eren Qaremgl wHmID Hlavewrear Coussdled
50 oflarmgsafley samgenr Guoed 250 B pamb, CasGafier @QmBE UL elens cuaiquiled 6rHS
gyref aldlgssdd Coume Qaiidlpg) ?

A) 1250 W (B) 100 W
(C) 1000 W (D) 125 kW

fTQeuar 1000 GQanilev ewgreers Gsmeamm <byoeray, 3 /el Ceussdd amusms
HHEGD @ masHler @l ey PphdHs Cswdngl. b sLlhg Caarn G9nE@ eassler
@l (Hueur 900 Qaniev fliTCeusmr Qe earamend CslLmd, g bLerader GCeusb :

(A) 41 m/s

B) 45 m/s

(C) 35m/s

(D) 50 m/s

s ellamteat Hlmeuard INFUSE rrsls. uweansams gieussluig) ?
A)  repw elamCeuad Hlmieuerid
B) @ndw elambeuet <pymii&s Hlmieuerd
(C) GCsolw gGrmprigsev womb eflarbeuafl flieursid
D)  gCrmulw larbeuafl Hlmeuard

Y o ol X 10 wiriug Ceuswrs urelearmed, epossmm el oildlgnd X : Y erenarens
AIGEIGT:

A) 10 B) 1/10

(C) 100 (D) 1/100

Qerreu(md @&w,Cwmeored Biss samysasald, asne@ Cardflaw Wss Gambeurs @) HE@SLD ?
A) BaCl, (B) NaCl
(C)  Ca(NOy), (D) La(NOy),
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51.

52.

53.

54.

The United Nations proclaimed 2025 to be the International Year of
(A) Millets
(B) Water Cooperation
(C) Quantum Science and Technology
(D) Periodic Table

Which aqueous solution is most acidic?
(A) 0.5 M NaNO,
(B) 1MK,CO,
(C) 0.1 M FeCl,
(D) 0.01 M NaCN

Which among the following is correct when considering the Olympic Order Award of the
International Olympic Committee (I0OC) ?

(1) The highest award of the International Olympic Committee was awarded to
Abhinav Bindra, the Shooting legend of India for the year 2024.

(11) The Olympic Order has been awarded to him during the 142»¢ International

Olympic Committee session in Paris.
(A)  Only @)

(B) Only (11)

(C) Both (1) and (i)

(D) Neither (i) nor (i)

Chronologically arrange the following Malayalam novels with their years of publishing :

1 Chemmen - Thakazhi Sivasankara Pillai
(11)  Ballyakalasakhi - Vaikom Muhammed Basheer
(111) Odayil Ninnu - P. Kesava Dev

av) Ummachu - Uroob

A) @), (i), @), @v)
B) (1), (), (v), @)
(€ (1), (11),(), (v)
D) @), (1), (1), (v)
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osHw prhsear sanu 2025 harer sreuCss s heilssg
@A) fnp sreflumser
(B) i @sgiompiiy
(C) @aunar_b Plefwe wHmib GsmlamL LD
D) sre SirLeuament

ahs Biss samred s Slwsseamann Csmer g ?
(A) 0.5M NaNO,
(B) 1M K,CO,
(C) 0.1 M FeCl,q
(D) 0.01 M NaCN

siuGss @alblls sl guiear (I0C) @dblds < ir dmamss smsHad Csmerern Curg
Wemeu(meuareupdled ergl sflwimerg ?
1) smuCss eellbls sl iguler o wflu elmg 2024 b ya@rmghstar @ bdlwmeder
FILLn&S &Hb srbueiTer barey AbsTTe s @, UPBRIGILL L g)
1)  urflelle pLbs 142618 sTeuCss ¢elbl9s &1y Swrellenr CUTg eumssE @lblds
QML GUPBRIGLILILL G|
A (@) wi@w
(B) (i) w @b
© O wppd (1)
D) @@)-b Goee (i)-b @erene

ereu(md  eewrer Breldsamer eupder Geusfluiih parhis@Eper sreafasiuig
auflensliL(hSseyb :

(1) QebBer - a0 Heugrisy Getenar
(1) urdwsTss - MEUSSHLD (PSLOG LIk
(i) gerule Hlerey - P. Csgau Csell
(1v) o bwrés - 2 _emLl

A) @), (), @), @v)

B) (@), @), (v), @)

©) (i), @), @), (@v)

D) @, (), (1), (iv)
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56.

57.

58.

Which of the following is correct when considering Kathaprasangam, the Malayalam
storytelling?

(1)
(11)

(iii)

2024 is the centenary year of Kathaprasangam.

C A Sathyadevan was the progenitor of Kathaprasangam with Chandalabhikshuki
of Kumaranasan as his first theme

The first venue for performing the new art form of Kathaprasangam was a school
opened by Kelappanasan at Vadakkinppuram near North Paravur.

(A) Only (1) and (i1)

(B) Only (i1) and (ii1)

(C) Only (1) and (i11)

(D) All (), 1) and (111)) are correct

Match the following List A (Film Directors) with List B (Malayalam cinemas with
Muslim Culture) :

(a)
(b)
(©
(d

List A List B
T.R. Sundaram 1) Maniyara
M. Krishnan Nair (11) Kandambecha Kottu
P. Bhaskaran (1)  Kuppivala
S.S. Rajan @1v) Thurakkatha Vathil

Q) (2)-(ib), (b)-0) (0)-(D), (d)-(v)
B)  (a)-Gi), (b)-@), (¢)-(v), (d)-(i1)
©  (@-@i), (b)-(), (0)-@v), (d)-(i1)
D) (a)-(i), (b)-(iiD), (¢)-(), (d)-(v)

Who wrote the Malayalam book, Padeniyude Geevathalam on the art form of Padayani?

(A) Kadamanitta Vasudevan Pillai
(B) Kadamanitta Ramakrishna
(C) R.C. Karipath

(D) Kavalam Narayana Panikkar

Which among the following is not correct when considering Indian Hockey?

(A) Sansarpur in Jalandhar district (Punjab) is known as the nursery of Indian
hockey

(B) A hockey player turned politician Aslam Sher Khan became the Central
Minister for India

(C) The height of the blackboard of the field hockey goal is 26 inches

(D) Mariyamma Koshay was the first Malayali to become the President of Hockey
India
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eOWTeTS Hmg Damdeid ssmirshssms smsde GararernCurg Yeral(helaeupmhle g
sflurerg 2
1) 2024 ssmirenigsdlen BrHDTEHRT(H <6801 (H

i) C.A. s5HwCGseuernr @wrarrsafler sarLmardsaedaw sarg P SHLUCUTHETTESS
Qe sgTlibyshssdler (perGarTy

(1) eururept  BGs  euLsdlaryrsder  Gserluprsarted  SHpssiiul L ueataflgmer
sgrUkrshsssler UHw smoeamwu Hapsgeushamear (psd @)L Lb
A) (@) wHmibd (1) w(Hb
(B) (1) wpHmb (iil) wi G
(C) (@) wpHmb (1ii) wIEIb
D) <@arggid ((1), (i) whmibd (iii) fluraraneu

Qereupd Llgwed A (Hevjuul Quis@enisar) Ul igwd B (wpevedd semssmyb Gameari
wepewmer Heaflorgser) o L er GuTmESeh :

Ul igwe A uligwé B
(@) T.R. sbsyb @) MYzl My
(b) M. d(meigemren BHrwi (1) s@TLLbOUFF Qe (p)
(¢) P. unevsyer (1)  suldew
(d) S.S. gmegen iv)  Ew&ETES eurdd

A4)  (2)-1d), (b)-O (0)-1), (d)-(@1v)
B)  (a)-(D), (b)-(@1), (c)-(v), (d)-(1i1)
©)  (a)-(1), (b)-Q), (¢0)-(v), (d)-(1)
D) (a)-(1), (b)-(itd), (0)-(1), (d)-Av)
uerLwanfl s ageild LG aflyCL Eaugeld 6Temm EEWITET BTN 6r(PHwleuT Wi ?
A)  sLwenfll L auraGgeuet Getaner
(B) sLwenfll L grwdl(megeamrm
(C) R.C. sflug

(D)  smeurebd prymwent LenildssT

@i anrsSlews smsHe Camer@EnbGLTg) emelmeuareuddled erg FHlwmang e ?

(A) mepsi wral L FHd 2 6rer FeramyT (LEpsml) @b anrsdufer prsfl eremm
SdP&EHILIHSH DG

B) @m aorsd &Syyres @ @bgs  Sirflueerdurs LIRL  Sjeved  CagTarer
@ndwrellen WSS SjeppFFTTETTT

(C) Yo anrsdl Caraller gmbLasuder o wirb 26 <imki@eah

D) @pdwureilery enrsHluder s weewnafl QL@ wHwbor Caragm
eI
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60.

61.

62.

63.

64.

Which of the following was the motive of Prisha Tapre, the teenage swimmer of
India and UK to cross the famous English Channel recently?

(A) To raise funds for building a school at her father’s home village in
Maharashtra

(B) To raise funds for a charity organization to provide food for needy children in
India and UK

(C) To propagate harmony among various religious communities all over the
world

(D) To create awareness against intoxication and substance abuse

Small and very fast memory that is placed between CPU and main memory :

(A) ROM
(B) CACHE
(C) BUS
(D) USB

Which of the following is not a system software?
(A) Firefox
(B) Unix
(C) Device driver
(D) None of these

An example for an empty tag in HTML is :

(A)  <html>
(B) <img>
(C) <body>
(D) <b>

Who is known as the “Father of AI"?
(A) Fisher Ada
(B) Alan Turing
(C) John McCarthy
(D) Allen Newell

The official website for chatgpt is :

(A) www.openai.com

(B) www.gptchat.com

(C) www.chatgpt.com
(D) None of the above
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@pdureayseg @udlarpddcnd @arwlorar @rddda GCsaamas &sLbs wCarsy Bosam

afgyrar Liflagr smiGruier Crrssbd

(A)

B)

(©
D)

D&TITeLTTelld g shansuller gmhs Hrmnsdld e Ldtatlanw s (HeushaTer
Bdenw Gesfliing

@pdureign @rdorbiaind CamelliLBb GLRHMSEHEHESE 2 e GBS (b
Ugnan® fpuasgne B Sr-Ged

2 llgnidlaib 2 drer LGaum G Fepshsaian_Gu BoOlMTEESMSLI LITLILIGEH

Curmeng woHmid Qurmer gaudrCunasdng edlrms alWiyamriamel FHLbH SIS0

CPU oppmid wpsdlw Hlevarausnd @l Cuw eveudssiu@n Adw womid Weeyd Geusnmer

Hlenareusid

(A)
B)
(©)
D)

ROM
CACHE
BUS
USB

Wemeumauameuhdled erg) seantlafl Clem6ummer ojee ?

(A)
(B)

(©)
D)

LT &6
W e &ev
I3 EMEUEN Lenyeum

@ e 6TgIeyD @)ened

HTML @é ¢ eriblig CL&SD@ T(SHSST( :

(A)
(©)

<html> B) <img>
<body> D) <b>

Al @ér shans eremm HePESLILI(HLIGUT Wii?

(A)
(©)

SolAagT L B) <pever G
somet GL&STTES) D)  <yeer Hluy,Geued

Chatgptssmer oiflsmyliyies @eearmugerd :

(A)
(B)

(©
D)

WWW.openai.com

www.gptchat.com

www.chatgpt.com

CupsearL eTgie b @)deame
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67.

68.

Find out which of the statements are correct :

(1) According to the Consumer Protection Act 2019, the district Commission has
jurisdiction to entertain complaints where the value of goods or services is less
than twenty lakhs

(1) The provisions for guardianship under the Rights of Persons with Disability Acts
2016 is for permanent nature of guardianship

(111) Under the Protection of Women from Domestic Violence Act 2005, a woman in a
domestic relationship shall have the right to the shared household if she has any
right, title, or beneficial interest in it

(iv) The chairperson of the Kerala State Commission for SC/ST shall be nominated
from among the members of SC and ST

(A) All statements are correct
(B) Statement (iv) only is correct
(C) Statements (i1) and (iv) are correct

(D) Statements (i), (i1) and (iii) are correct

Who is the first Chairperson of the National Women Commission of India?
(A) Mohini Giri (B) Vibha Parthasarathy
(C) Jayanthi Patnaik (D) Dr. Poornima Adwani

Find out the correct options from the following :

(1) The special courts created under SC/ST (Prevention of Atrocities) Act 1989 have
the status of High Court

(1) A childless senior citizen has no right under the Maintenance and Welfare of
Parents and Senior Citizens Act 2007

(111) No party has the right to legal representation before the Maintenance Tribunal

(iv) The Administrative Tribunal was established according to the 42" Amendment of
the Constitution

(A) All the statements are correct
(B) Only statements (1) and (i1) are correct
(C) Only statements (ii1) and (iv) are correct

(D) Statements (11) and (i1i) are correct

Who is competent to issue a Certificate of Identity for transgenders?
(A) District Medical Officer
(B) Chief Medical Superintend
(C) Any Civil Surgeon
(D) District Magistrate
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(B) seeew wmsgiel sarsranflliLimert
(C) gCaand Slefle gireger
D) wraurL FHud

-29-



149/2024-T

69.

70.

71.

72.

73.

Which of the following statements is correct?
(1) A person who purchases goods for consideration and uses them for commercial

purposes is not a consumer

(1) A child who is found vulnerable and is likely to be inducted into drug abuse or

trafficking is considered as a child in need of care and protection

(111) The minimum punishment provided in IPC for causing grievous hurt by the use of

acid against a woman is seven years

(iv) The Untouchability (Offences) Act was renamed as SC and ST (Prevention of
Atrocities) Act 1989

(A) Statements (1) and (i1) are correct
(B) All statements are correct
(C) Statements (1), (i1) and (iv) are correct

(D) Statements (i1), (ii1) and (iv) are correct

Every person with a benchmark disability has the right to free education upto the age of :
(A) 14 years (B) 18 years
(C) 21 years (D) 16 years

A grocery store raises the price of a loaf of bread by 25%, then lowers the new price by

25%. What is the final price of the bread compared to the original price?
(A) The same as the original price (B) Higher than the original price
(C) Lower than the original price (D) Cannot be determined

If you multiply a positive fraction less than 1 by itself, the result will be :
(A) Larger than the original fraction
(B) Smaller than the original fraction
(C) Equal to the original fraction
(D) It depends on the specific fraction

A regular hexagon is inscribed in a circle with radius 6 cm. Find the area enclosed by the

hexagon :
(A) 183 cm? B) 3643 cm?
(C) 5443 cm? D) 7243 cm?
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A company sells a product with a marked price of £ 120/-. They offer a 15% discount and
another 10% discount. What is the final selling price?

A T84 (B) ¥91.8
(C) % 96.7 D) %102

A car travels a certain distance at a speed of 60 km/h. If the same distance is covered at
a speed of 80 km/h, the time taken is reduced by 1 hour. Find the distance traveled.
(A) 120 km (B) 160 km

(C) 200 km (D) 240 km

In a geometric progression, the 5t term is 16 times the first term. Find the 7t term if
the first term is 2 :

(A) 128 (B) 256
(C) 512 (D) 1024

A company assigns employee identification numbers based on a complex system. The
first digit represents the department (1 - Sales, 2 - Marketing, 3 - IT, etc.), the second
digit signifies the employee’s seniority level (1 - Junior, 2 - Mid-Level, 3 - Senior), and
the last two digits are a sequential number starting from 01 for each department and
seniority level combination. Identify the employee with the most experience if the
following IDs are observed.

(A) 1203
(B) 2110
(C) 3305
(D) 2308
If 20% of a number is 35, what is the number?
(A) 100 B) 175
(C) 150 D) 200

If you are facing east and turn 270 degrees anti-clockwise, in which direction are you
now facing?

(A) North
(B) South
(C) East
(D) West

Solve the inequality : —3x <15

A x>-5
B x<-5
C) x>5
D) «x<5
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81. A group of eagles is called :

(A) Convocation
(B) Parliament
(C) Council

(D) Headquarters

82. Find out the compound noun :
(A) Blockhead
(B) Brainwash
(C) Ice-cold

(D) Grass-fed

83. Antonym of the word “lasting” is :
(A) Perpetual
(B) Momentary
(C) Infinite

(D) Eternal

84. Which is the correct spelling?
(A) Leiutenant
(B) Leuitenant
(C) Leftenant

(D) Lieutenant

85. When does the class commence? The meaning of the word “Commence” is :
(A) end
(B) continue
(C) conclude

(D) start



86. Add prefix and suffix to the base form ‘believe’

(A) enbelievable
(B) forbelievable
(C) unbelievable

(D) onbelievable

87. What does the term ld est mean?
(A) thatis
(B) for example
(C) for reference

(D) for sure

88. Give the synonym of the word ‘abundance’ :

(A) little
(B) meagre
(C) plenty

(D) scarce

89. We are eager to get on in life. The meaning of the phrasal verb ‘get on’ is :

(A) progress

(B) fail
(C) ruin
(D) fall

90. Mary is a good student. I like her
(A) Childish
(B) Childed
(C) Childlike

(D) None of these

nature

149/2024-T



149/2024-T

91.

92.

93.

94.

95.

‘spn’ aaib QFTda)sE @amanwurar Coum CFThHaer wrg) ?

()
(i)
(111)
(iv)

)

semall

eflamibdLy

BlGUEd

(A) ()b ()b &f B) ()b (i) (v)eb &f

(©) @2 (Av)2b & D) @@= ()b (Av)zb &f

‘G eTeTUSET eTSHTEFTED wimg) ?

(@)
(i)
(111)
(iv)

L&Lp&S]

wusHEl

uplECEmed

BHE&FTed

A) (@2 () &f B) ()eb ({i)eib ef
(C) (@@ (v)eb &f D) () (iv)eb &f

@ + Cadliiy Carslsps)s.

@
(ii)
(111)
@iv)

@oGadiiy

@ hGFM Ly

Qo@sHlL

@ eralalLiLy

A) @z (ii)ewb & B) (2w (Gv)zb &f
(C) (1) wi@Gw & (D) (@il) wr P &

&Gy sruiul@earareupded (peraflame elaarwpbms Qemhaer wrane ?

()
(i)
(111)
(iv)

BLHCHE

BLbSmer

AIbBSTUI

cubSir

(A)  (i)2b (v)eb &M (B) (@()=_ib (iid)e_b &M
(C) (@(@)eb (i)=1b & D) Gied (iv)eib &

“Carrying coal to new castle” ergyid LPQWTNEEG Gaerruirer SO LPGLTH 6rg) ?

@
(ii)
(ii1)
@iv)

u&5Gsmed CumrisHus Lyedl

Qareeer Ggmeild 2arél allhHug Cume

< sTws Carliel sl (heug Cume

srhmerer CurGs grvdls Csmer

A) () vLEo e B) @ ()2 &f
(©) (@) @Av)eb &l D) @{v) wL@Ew &

-36-



96.

97.

98.

99.

100.

149/2024-T

‘sreflwerg 19N50SwWss.
i) 87+ Quens

(i) g7+ Awers

(1) sy + Wwens

iv) sreu + Quens

A) (@b ()b &M (B) (ii) v @b &M
(C) (Db (iv)eib &M D) () wrEo &
&G sruiulGarareunpdled “epBe” ererueupdler GuaTLTED wmeneu ?
(1) ser
(i) ser
(111) wsEe
iv) wdef
A) (@) (i) b &M B) (@()ed (v)eb &
(C) (@b ()b &M (D) (i)ed (v)e b &

audlens eremLigem ClLmmeT wmg)?

@  wmp

i) @dereow s(Hb euLLb

(i) srseanfl

iv) Qsrene@perm
(A) (@)oo ()ob (i) b &M B) @)eb (i) (Av)eb &f
(C) (i) (v)eb &f D) @) vl &M

eundleal — QessarEGHLIL S(HS.

1) 2 eumbstsras

1) Quu@r&sbd

(1) uerysLgTens

1v) QuuirEQeme
(A) (@@)eb ()b &M B) (@11) wr P &
(C) ()b (v)eib sf D) (@(v) v P &M

uere ell@&Ed DDOTHET cTane ?

1) e

(i) e

(1i1) o

@1v) erer
(A  (@)ebd (G)=ib & B) (@(v) v b &M
(C) (i)emd (iv)zib & (D) (1) wr @b &M

-37-



149/2024-T

Space for Rough Work

A -38-



149/2024-T

Space for Rough Work

-39-



